Leaderboard position
Race # Boat 1 Boat 2
1 3 1
2 5 2
3 7 15
4 8 3
5 8 123
6 3 5
X1= 34 149
X2((*)= 26 26
A= 8 123 6,50%
Average 1= 5,67 24,83
Average 2 (*) = 5,20 5,20
STbV 1= 2,13 44,15
STDV 2 (*) = 2,04 5,08 40,19%
Notes:
*) With discarded points.

1 - Lower "%" means greater discarding impact.

2 - STDV, is the Standard Deviation based on the entire
population, measuring how widely values are
dispersed from the average value (the mean).

Leaderboard position

Race # Boat 1 Boat 2
1 2 5
2 3 9
3 1 7
4 3 2
5 4 5
6 7 8
7 6 1
8 2 7
9 2 9
10 4 1
11 3 7
12 8 1
13 5 4
14 3 4
15 9 1
16 2 5
17 6 3
18 9 8
19 8 4
20 5 1
21 2 3
22 9 14
23 4 9
24 5 4
25 7 1
26 7 6
27 8 5
28 123 3
29 2 150
30 5 4
T1l= 264 291
X2 (*)= 141 141
A= 123 150
Average 1= 8,80 9,70
Average 2 (*) = 4,86 4,86
STDV 1= 51,14 63,22
STDV 2 (*) = 2,47 3,12

82,00%

79,40%



